1	BILL NO. S-13-08-09(AS AMENDED)
2	SPECIAL ORDINANCE NO. S-
3	AN ORDINANCE approving the awarding of ITB
4	#3533 - ASH TREE REMOVAL FOR 2013-2014
5	by the City of Fort Wayne, Indiana, by and through its Department of Purchasing and MUDRACK
6	TREE EXPERTS for the FORT WAYNE PARKS AND RECREATION DEPARTMENT.
7	NOW, THEREFORE, BE IT ORDAINED BY THE COMMON COUNCIL
8	OF THE CITY OF FORT WAYNE, INDIANA;
9	
10	SECTION 1. That ITB #3533 - ASH TREE REMOVAL FOR 2013-2014
11	between the City of Fort Wayne, by and through its Department of Purchasing
12	and MUDRACK TREE EXPERTS for the FORT WAYNE PARKS AND
13	RECREATION DEPARTMENT, respectfully for:
14	removal of 2447 ash trees and stumps throughout the City of
15	Fort Wayne during 2013-2014;
16	involving a total cost of FOUR HUNDRED FORTY-THREE THOUSAND, NINE
17	HUNDRED FIFTY-SEVEN AND 00/100 DOLLARS - (\$443,957.00) all as
18 19	more particularly set forth in said ITB #3533 - ASH TREE REMOVAL FOR
20	2013-2014 which is on file in the Office of the Department of Purchasing, and
21	is by reference incorporated herein, made a part hereof, and is hereby in all
22	things ratified, confirmed and approved.
23	annigo raumou, committed and approved.
24	
25	
26	
27	
28	1
29	

1	
2	SECTION 2. That this Ordinance shall be in full force and effect
3	
4	from and after its passage and any and all necessary approval by the Mayor.
5	
6	
7	
8	Council Member
9	
10	ADDDOVED AC TO FORM AND LEGALITY
11	APPROVED AS TO FORM AND LEGALITY
12	
13	
14	Carol Helton, City Attorney
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	
28	2

REF. NO.:

DEPT: Park Dept

DATE: 6/6/12

ITEM/SERVICE: Ash Tree Removal for 2012

3533

ADVERTISED BID: YES

DATES ADVERTISED: 5/14/12 & 5/21/12

DATE OPENED: 5/31/12

SINGLE SOURCE: No

NO. OF VENDORS NOTIFIED: 12

NO. OF VENDORS RECEIVING BID: 12

NO. OF VENDORS RETURNING BID: 4

NO. OF VENDORS DISQUALIFIED: 0

DATE SENT TO DEPT FOR RECOMM: 5/31/12

DATE RECOMM RECEIVED BACK: 6/4/12

DATE SENT TO LAW DEPT: 8/2/13

INTRODUCTION DATE: 8/13/13

DISCUSSION DATE: 8/20/13

PASSAGE DATE: 8/27/13

ITB #3533																<u>. </u>	
ASH TREE REMOVAL	1				<u></u>					L							
OPENED 5/31/2012	<u> </u>													L			
·									······································								
VENDOR			Youn	g's	General Con	tract	ing				Mudi	ack	Tree Serv	ice,	Inc.		
Art		 				<u> </u>		L		<u> </u>						-	***************************************
DBH Classes	# of Trees	Pric	ce/Tree	To	otals	Pric	e/Stump	Тс	tals	Pr	ice/Tree	То	tals	Pr	ice/Stump	To	otais
6" and under	82	\$	55.00	\$	4,510.00	\$	48,00	\$	3,936.00	\$	46.00	\$	3,772.00	\$	30.00	\$	2,4
7" to 12"	642	\$_	98,00	\$	62,916.00	\$	55.00	\$	35,310.00	\$	92.00	\$	59,064.00	\$	40.00	\$	25,6
13" to 18"	2088	\$	228.00	\$	476,064.00	\$	115.00	\$	240,120.00	\$	144.00	\$.	300,672.00	\$	52.00	\$	108,5
19" to 24"	1248	\$	380.00	\$	474,240.00	\$	165,00	\$	205,920.00	\$	295.00	\$.	368,160.00	\$	72.00	\$	89,8
24" to 30"	341	\$	450.00	\$	153,450.00	\$	175.00	\$	59,675.00	\$	426.00	\$	145,266.00	\$	95,00	\$	32,3
30" to 36"	78	\$	800.00	\$	62,400.00	\$	250.00	\$	19,500.00	\$	590.00	\$	46,020.00	\$	120,00	\$	9,3
Over 37"	21	\$ 1	,125.00	\$	23,625.00	\$	310.00	\$	6,510.00	1\$	960.00	\$	20,160.00	\$	150.00	\$	3,1
Total				\$	1,257,205.00			\$	570,971.00	T		\$:	943,114.00	T		\$	271,4
Combined Total of		1		1	· · · · · · · · · · · · · · · · · · ·			1		1		<u> </u>		1		1	
Trees/Stumps								\$	1,828,176.00			l .	-			1	1,214,5

					· · · · · · · · · · · · · · · · · · ·				·	987			s Tree Ser		Secretaria de		·····
VENDOR			. As	splt	ındh Tree Ex	pert							DRIGINALI N DEFAUL				
DBH Classes	# of Trees	Pri	ice/Tree	To	otals	Pri	ce/Stump	To	tals	Pri	ce/Tree	Tota	als	Price	e/Stump	То	tals
6" and under	82	\$	55.00	\$	4,510.00	\$	40.00	\$	3,280.00	\$	25.00	\$	2,050.00	\$	10.00	\$	820.00
7" to 12"	. 642	\$	105.00	\$	67,410.00	\$	49.00	\$	31,458.00	\$	45.00	\$ 2	28,890.00	\$	20.00	\$	12,840.00
13" to 18"	2088	\$	160.00	\$	334,080.00	\$	74.00	\$	154,512.00	\$	65.00	\$ 13	35,720.00	\$	25.00	\$	52,200.00
19" to 24"	1248	\$	220.00	\$	274,560.00	\$	99.00	\$	123,552.00	\$	125.00	\$ 13	56,000.00	\$	50,00	\$	62,400.00
24" to 30"	341	\$	440.00	\$	150,040.00	\$	124.00	\$	42,284.00	\$	175.00	\$ 3	59,675.00	\$	65.00	\$	22,165.00
30" to 36"	78	\$	680.00	\$	53,040.00	\$	148.00	\$	11,544.00	\$	250.00	\$	19,500.00	-\$	75,00	\$	5,850.00
Over 37"	21	\$	900.00	\$	18,900.00	\$	152.00	\$	3,192.00	\$	400.00	\$	8,400.00	\$	100.00	\$	2,100.00
Total				\$	902,540.00)		\$	369,822.00			\$4	10,235.00			\$	158,375.00
Combined Total of			····													T	
Trees/Stumps	.[ļ		l		ļ		\$	1,272,362.00							\$	568,610.00

COOK'S TREE SERVICE 252 S. 600.W ANGOLA, IN 46703 260-665-6170

7/30/2012

TO WHOM IT MAY CONCERN:

THIS LETTER IS TO INFORM YOU THAT COOK'S TREE SERVICE IS DEFAULTING ON THEIR CONTRACT, WE HAVE TRIED OUR BEST TO KEEP FROM DOING THIS BUT THERE ARE NOT ENOUGH RESOURCES AVAILBLE TO US AS WE ARE A SMALLER COMPANY AND DID NOT ANTICIPATE THE TURNOVER OF 20 PLUS EMPLOYEES IN 7 DAYS.

RFP# 3533

THANK YOU,

	2013 Ci	ty of	Fort Wayne Ash	Ren	novals	***************************************	
Contra	ctor		Mud	rack	Tree Expe	ts	
DBH Class	# of Trees		Price/Tree	Pri	ce/Stump	7	Sub Total
6" and under	332	\$	46.00	\$	30.00	\$	25,232.00
7" to 12"	997	\$	92.00	\$	40.00	\$	131,604.00
13" to 18"	801	\$	144.00	\$	52.00	\$	156,996.00
19" to 24"	250	\$	295.00	\$	72.00	\$	91,750.00
25" to 30"	55	\$	426.00	\$	95.00	\$	28,655.00
31" to 36"	9	\$	590.00	\$	120.00	\$	6,390.00
Over 37"	. 3	\$	960.00	\$	150.00	\$	3,330.00
Total	2447					\$	443,957.00

COUNCIL DIGEST SHEET

Enclosed with this introduction form is a tab sheet and related material from the vendor(s) who submitted bid(s). Purchasing Department is providing this information to Council as an overview of this award.

R	\mathbf{F}	Ρs	&	\mathbf{R}	m	S

Bid/RFP#	
Awarded To	Mudrack Tree Experts
Amount	\$443,957
Conflict of interest on file?	
Number of Registrants	4
Number of Bidders	
Required Attachments	Bids – attach Tab Sheet

EXTENSIONS

Date Last Bid Out	2012
# Extensions Granted	0
To Date	

SPECIAL PROCUREMENT

Contract #/ID			
(State, Federal,			
PiggybackAuthority)			
Sole Source/	· ·		
Compatibility Justification			

BID CRITERIA (Take Buy Indiana requirements into consideration.)

Most Responsible, Responsive Lowest	xYes	No	If no, explain below	 	
If not lowest, explain					

COUNCIL DIGEST SHEET

COST COMPARISON	
Increase/decrease amount	
from prior years	
For annual purchase	
(if available).	
DESCRIPTION OF PRO	DJECT / NEED
Identify need for project &	This contract is for the removal of 2447 ash trees and stumps throughout the City
describe project; attach	of Fort Wayne. This is a one year extension of the previous contract. Mudrack
supporting documents as	Tree Experts was the lowest most responsive bidder and has agreed to maintain the
necessary.	same pricing.
	·
医马马勒氏试验法	
REQUEST FOR PRIOR	APPROVAL
Provide justification if	
prior approval is being	
requested.	
FUNDING SOURCE	
	he funding for this contract is from our Cumulative Capital Find and from an
<u>a</u>	ppropriation by the Mayor.
<u> </u>	